
ω = 1 Mrad/s ig2(t) =√
2 (ωt) [A] e3(t) = 2uR1(t) [V ] R1 = 1 Ω C1 = 0, 25 μF L1 = 4 μH

L12 = 1 μH L2 = L3 = 2 μH C3 = 0, 5 μF
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e3(t) = 12 (t − π
4 ) [V ]

ig6(t) = 2
√
2 (t) [A] e4(t) = 1i1(t) [V ] L1 = L2 = 4 H L12 = 1 H

C4 = 0, 5 F R5 = 3 Ω L5 = 2 H C5 = 0, 5 F

L1
i1

e3

e4

C4

L5 R5
C5

L2

ig6

L12



e1(t) = 12
√
2 (10t) [V ]

e2(t) = 4
√
2 (10t + π

2 ) [V ] ig5(t) =
√
2 (10t − π

2 ) [A] L1 = L2 = L3 =
L34 = 0, 2 H R3 = 6 Ω L4 = 0, 4 H C4 = 0, 0125 F

L3 R3 L2
e2

e1
L1

L4

C4

C6

ig5

L34

I1 = 1 [A], Ug2 = −j [V ], I3 = 1− j [A]

S = 1 + 2j [V A]

I1 = 2j [A], I2 = −2j [A], I3 = 2(1− j) [A] . . .

ZAB0
= 3(1− j)[Ω]

UAB0
= −6[V ] I23 = 1− j[A]

ig5


